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import gnuplot
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from gnuplot import x*
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import os; execfile(os.environ[’PYTHONSTARTUP’])
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from Numeric import *
x=arange (256) *pi/128
y=sin(x)

gnuplot.plot(y)
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gnuplot.plot(y,file=’gpsamplel.eps’)
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gnuplot.plot (map(None,x,y))



05

-05 |

0 50 100 150 200 250 300

O 1: gnuplot.pyD O0Osin DOO0O00OO

2.2 gnuplotD0OOO0OOOOO0

gnuplot0 00 0000000000000 00O00O00O00O0O0OO0OOOpythonO OO plotO
obooobobooobooood

gnuplot.plot (map(None,x,y) ,xrange=’[0:6.3]’,yrange=’"[-1.2:1.2]",
title=’"This is a Title"’)
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set keyword val
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y2=cos (x)
gnuplot.plot(y,y2,yrange=’"[-1.2:1.2]")
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gnuplot.plot (map(None,x,y,y2) ,xrange="[0:6.3]’,yrange="[-1.2:1.2]’)
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gnuplot.plot (map(None,x,y) ,map(None,x,y2) ,xrange=’[0:6.3]",
yrange=’[-1.2:1.2]7)
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gnuplot.multiplot(y,y2,yrange="[-1.2:1.2]7)
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gnuplot.multiplot(y,y2,yrange=’[-1.2:1.2]’,block=(1,2))
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gnuplot.multiplot (map(None,x,y,y2) ,map(None,sqrt(x),y2),
yrange=’[-1.2:1.2]’ ,block=(1,2))
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gnuplot.tplot (map(None,1000*x,y,y2) ,yrange="[-1.2:1.2]’ ,block=(1,2))
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t=arange (64)*(6.0/64)-3.0

u=t+0.0 # force to create copy of t

t.shape=(len(t),1)

u.shape=(1,1len(u))
gnuplot.splot_matrix(sin(ux*2+t**2+0.001%%*2) / (u**2+t**2+0.001%%2) )
gnuplot.splot_matrix(sin(ux*2+t**2+0.001%*2)/ (ux*x2+t**x2+0.001%*2) ,
hidden3d="" )
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2.7 Tk/CanvasOO0O0O
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import Tkinter

r=Tkinter.Toplevel()

c=Tkinter.Canvas(r)

c.pack()

gnuplot.splot_matrix(sin(u*x*2+t**2+0.001%*2) /(u**2+t**2+0.001%%2) ,
hidden3d="", canvas=c)

c.mainloop()
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gnuplot_instance=gnuplot.gnuplot ()
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3.1 Show()OOOO
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gp=gnuplot.gnuplot ()

plti=gp.plot(y,y2)

plt2=gp.splot_matrix(sin(u*x*2+t**2+0.001%*2) / (uk*2+t**2+0.001%%2) ,
hidden3d="")

gp.Show(pltl,plt2)
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[1] N. Yamamoto “arr.py 00O O”, in preparation
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0 10: splot matrix() 0000000000000 0hidden3d000000000000OOhiden3d

gooobobooon

300

150 200 250

0 11: gnuplot.gnuplot0 000000 Show() 0000

10



